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Rectangles ABCD and EFGH are similar. AB=2cm BC = 3cm EF = 6cm 
Work out the length of FG. 
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Triangles ABC and DEF are similar. AB = 4cm AC = 5cm DE = 16cm EF = 17cm. 

I) Work out the length DF. 
 
 
 
 
 

II) Workout the length BC 
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Triangle ABC is similar to triangle ADE. AB = 8cm  BC = 6cm BD = 4cm 
 

a) Work out the length of DE. 
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Triangle ABC is similar to triangle ADE. AD = 10cm  BC = 8cm BD = 5cm 
 

a) Work out the length of DE. 
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Triangle ABC is similar to triangle ADE. AB = 6cm  BC = 8cm CE = 6.25cm DE = 
18cm 
 
 (a) Work out the length of DB. 
 
 
 
 
 
 
 
 
 
 (b) Work out the length of AC. 
 
 
 


